HEFERE B A 5

1 (1) C ={1,2,4,5,10,20}
(2) D = {_47 _37 _27 _1707 1}
(3) E={2,3,57T}

12 £ PIZOWVWTIE, AIZEENLVWEES RDHLDOTES A DI
LETRV, EEHEQ, RIZOVWTI, IRTOEZEN AIZEEND
DTEEADHDTEETH S, £oT,

QCA RCA

3 2fESE U X, U=1{1,2,3,4,56,7,8,9,10} TH 5,
E£4 A, A={3,6,9} Th53,
koT, A=1{1,2,4,5,7,8,10} TH 3,

14 (1) ANB={3,5}, AUB=1{1,2,3,5,7,8,9}
(2) ANB ={4,8,12}, AUB = {2,4,6,8,10,12}

15 44 Ak, A={1,2,3,5,6,10,15,30} TH 3,
XoT, n(A)=8Th52,

6 SkEAE U LTEE, n(U) =230 Ths,
A ={5,10,15,20,25,30} TH 225, n(Ad) =6 Th 2,

£oT, n(A)=n(U)—n(A)=30—-6=24 Tdh 5%,



17 A= {3,6,9,12,15,18,21,24,27,30} TH 215, n(A) = 10 TH

[ 8

[ 9

[ 10

=B

B = {5,10,15,20,25,30} TH 2% 5, n(B) =6 Th 2.
ANB=1{15,30} TH355, n(ANB)=2Th5,

£oT, n(AUB)=n(A)+n(B)—n(ANB)=10+6—-2=14 T
H5,

WA ToT-ERRRDESEE ALT5L, n(Ad)=25Th5,
AT 722k DELE%EZ B3 5L, n(B)=17TTh 5,
ZoeE, BellomANT> EEEEKOESRIXF ANB Th b9
5, n(ANB) =10 THh 5,

HEIFUNT o 72 EERKDOERIXFAUB THY, n(AUB) =
n(A) +n(B) —n(ANB) =25+ 17 — 10 = 32 TH .

E£oT, BELIFUNTER/RIZ 32 ATH S,

(1) HOEOMM 51225DIE, RO 438EY TH 5,
(R, /N =(1,4),(2,3),(3,2),(4,1)
HOBDOHMN 10 12725 D1%, XD 3@ED TH B,
(K,7/N) = (4,6),(5,5), (6,4)
ZD2D2DZENSIEFAIFHZEI 520D T, HOBOIMN 5 £

72131012725 DE44+3=T@EYTH 5,

PBREIZDODWTOHGZEDREVCHER S EE DL, TOZTNTNIZHLT
FLZEsIZ DO WTOMEEDED G4 HLDT, EOHIXEIHT
5x4=2080Tdh5,



